Sum and Difference of cubes (HKMO Classified Questions by topics)
1984 FGé6.1
21° -171°
212 +21x11+11
21° -171°
217 +21x11+11%°
1985 FG7.1
78% +22° .
—78x22+22?
78% +22°
—78x22+22?

¥ p= - dep it

If p= find the value of p.

;zM=782 f M g o

Let . Find the value of M .

M=2g
1987 FG6.4
= M=(102+ 10x1 + 12)(102 -
If M=(10>+10x1 + 12)(10% -
1990 FG6.1

12)(102 -
12)(102 -

10x1 +12) » F M ehig o
10x1 + 12), find the value of M .

(68° — 65°)- (32° +18°)
(322 —32x18+182). (682 + 68 x 65 + 652
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a=
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(68° — 65°). (32° +18°)

If a= 5 5 5 5 , find the value of a.
(322 —32x18+182)- (682 + 68 65+ 652 )

1991 HII5

321 Tak- A T0 2 [ 80 TS 0 FT R -

312 — 1 is divisible by an integer which is greater than 70 and smaller than 80 .

Find the integer .

1996 FG6.2

Fp-q=2p-r=1%2 b=(r-qlp-9 +@-9@-nN+@E-1°]"
Ifp-g=2p—r=landb=(—-lp-9*+@-9)p-n+@-r’l

Find the value of b .

2000 FG54

4rd cos®O+sin®0=04° % d=2+5c0s20sin?0 > FdniE o

If cos®0+sin®0=04 and d=2+5cos?0sin?0, find the value of d.
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Letx = 10+\/@ and y = 10 \/E IfR=2"Y|
2 "2 2 \2 5
2005 FI3.3
—‘EC:(12343—1232><(12342+2472))><% L Hc i o

b,}"-:'x_

find the value of R .

If c=(1234° —1232x (12342 + 2472))x %, find the value of ¢ .

2008 FGS.4
2008 +4015° | | 2008° + 4015°
e g o Calculate the value of 3 7
2007° + 4015 2007° +4015
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Sum and Difference of cubes (HKMO Classified Questions by topics)
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Answers
1984 FG6.1 1985 FG7.1 1987 FG6.4 1990 FG6.1 1991 HI15
10 100 999999 150 73
1996 FG6.2 2000 FG5.4 2001 F14.3 20051FI3'3 200501:228'4
7 3 10 — —
6022
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